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Chapter 10: Money
Addition of money

Let’s do exercise together.

Please write doww the correct answer.

1 RM350 + "RMD.GO =

2. BM560 + TBM.3D =

2 RMD50 + RMALD

I

4 RBM 2050 + TRM26060 =

5 BRMapaoc + RBM2a30 =

. BRM 60.20 + TRMeA20 =

7 RM 2910 + RM3A0

I

ARM250 + RM3 -

AaRBM 740 + BM16AD =

10.RM 540 + "RME3.50

I

AV VA VARV VIR VAR VAR VRV
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Please write doww the correct answer.

1.% 620 + ¥10 + ¥530

R

2. %3010 + ¥5.20 + ¥10.50

p—

2.£9950 + ¥I00 + ¥1.70

I

4. ¥ 0 + ¥41.20 + ¥1.20

537230 + ¥22 + ¥2.40
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b. ¥ 2730 + A0 + %60

R

F. ¥ 3575 + ¥31550

p—

D. ¥ 545040 + ¥62.75 + ¥ FA1. 20

p—

A.¥1000 + ¥1522 + ¥32.50

R

10. ¥100.20 + ¥24.90 + ¥4.490
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Please write doww the correct answer.

1. BRMA13.40 + RM200.50 + RM 14250 =

Il

2. RM 5520 + RM156.40 + RM 5
2. BRM 326 + RBRMaq + RM 1550 -
4. BWM 36,60 + RMB550 + RM 7 _

5 BM 25045 + RM2.490 + RM 2050 =

I

0. BRM A6.20 + RM12210 + RM1.20
7. RM 3.0 + RM720 + RM 27.60 =

. RM 510 + RMA3.60 + RM12.%0

I

4. RM 2640 + RM2.45 + BRM 7.45

I

10.RM @70 + RM55.40 + KM &0 =

M. BM 20310 + RMAq.20 + RM 5

Il

12.BRM 6.0 + RMGe.00 + RM16.40 =
12.RM 70.75 + RM220 + RM1022.20 =

14.BM 4250 + RM150.20 + RM 520 =

15.RM 4.20 + RM420.30 + RM 5150 = |
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Please write doww the correct answer.

1.BRP 520.20 + RP1#1. 45 + RP 30.20 =

2. RP10110 +RP 2450 +RP 7010 =

2. RP 490.55 +RP 2194.20 =

4. RP10.90 +RP 32010 + RP 6D.40 =

5.RP 24.40 +RP 750 + RP 22010 =

©. BRP 10.%30 + RP 7010 + RP1.50 =

7. RP aA.90 +RF 2990 =

&.RP 121 +RP $95.30 =

I

a4.RP 3910 + RP 525 + RP 2.0

10.RP 46?3 +RP .30 =

Il

M. RP 27 +RP 23.70

12.RP 69 + RP 41.20 + RP 5.20 =

12.RP 2940 + RP19.20 +RP 20.20 =

14.RP 00210 + RP 310 + RP16.20 =

1

15.RBP 220.230 + RP 30 + RP 51.40

Year 3 Mathematics Worksheet | Google: VBEST 88



vbest.edu.my

Please write doww the correct answer.

1% 22120 + ¥ 440 + $129.30
2.442020 +¥ 22

2. ¥ 20000 +¥1550 + ¥ 50.70
4.4 3120 + ¥ 4010 + ¥ 795
5.4 2950 + ¥ 7740 + ¥ 111,50
C. % (D250 + ¥ 40.20

7.% 20555 + ¥ 45.20 + ¥ 2450
O ¥ 222 +¥ 7270

A. %190 +¥ 4670 + ¥ 144

10. % A1 + ¥ 124

M. ¥ 02.90 +¥119.40

12. % 7440 + ¥ D010 + ¥ 4.20
12. % 71445 + ¥ 29

14.4 4940 + ¥ 4420 + ¥ A110

15.% 762.60 + ¥ 40 + ¥ 679

I

1

Il
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Subtraction of movey

Please write down the correct answer.
1.£102.20 - £29.20 - £5920 =
2. £ 425490 - £1%0 =
2.£42950 - £5050 - £ 2040 =
4. £ 45040 - £ 5010- £ .90 =

5. £ 1450 - £ 221490

Il

e. £ 20450 - £101.90 - £ 20.60 =
7. £3%040 - £60.60 - £ 610 =

©.£555 - £AB.70

Il

I

a. £ .40 - £ D50 - £ 209
10. £ #10.30 - £ 30.40- £ A0 =

M. £ 252 - £44.90

I

12.£ 79215 - £ 2910 - £515 =

12. £ 20220 - £ 7770 - £ ©5.60 =
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Please write down the correct answer.
1.BM 425240 - BRM 5.0 - RM 5010 =

2. BRM 562,30 - RM 50.70

Il

2. RMA194.30 - RM 4.0 - RM20.%0

Il

4. BRM 792,950 - RM (0.50 - RM210

1

5 RBM 442.20 - RM 4410 - RMAD.40

I

. RM 230 - BM 4010 - BRM32.10

1

7. RM 32040 - BM10.20 — KM 57110

I

©.RM 220.%0 - RM 540 =

4. RM 79250 - RM 11.%60 - BRM7.4D

I

10.BRM 695 -"RM 1910 =

1M1.BRM ©5.35 - RM 41.55

Il

12.BM 401.80 - KM 2550 - RWM04.50 =
12. KM 150550 - RM 32560 - RM200.90 =
14 BRM 1700.55 - BRM 513.20 =

15.BRM aaq - wm da.90 =
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Please write doww the correct answer.

1.RP 75550 - RP 494.90 - RP2495

I

2. RP 65410 - RP 29.90 =

2. RP d1.90 - RP 50 - RP17.50

I

4. RP 69245 -RP 54.40 - RPN

1

5.RP 504.70 - RP 21.20 - RP21055 =
. RP 292. 20 - RP 54.490 - RPA5 =

7. RP 65590 - RP 24.90 - RP245

I

©.RP 21110 -RP 44.490 =

a4.RP123 -RP 20.60 - RPF10

1

10.RP 44410 -RP 64.90 - RP100.90 =

1M.RP 22990 - RP1332.30

Il

12.RP A0.50 - RP 1740 - RP5.30

Il

12.RP 505.50 - RP 31.20 - RP104.50 =
14.RP 792.25 - RP 500 - RP12.50 =

15.RP 329.90 - RP 24.90 =
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Please write doww the correct answer.

1. $ 121150 - $ 55240 - $50

I

2.$ 74940 - $ 59250 =
2. $57250 - $ 16430 - $29.20 =

4.$ 29342 -$52015 - 44550 =

I

5.4$1555 - ¢ 244.60 - $13.90

G. $ 49140 - $ 5715 - $40.%0

1

I

7.4 2009 - ¢ 2010 - $ 45.60
®.$ 310250 - $ 2064 - $3a6.40 =
aA.$ 20340 - $ 4010 - $4010 =
10. $ 562.20 - $ 271.30 =

1. $ 3%0.30 - $ 193

Il

12. 4 42940 - $ 49.90 - $15.80 =
13.$ 192026 -$ 5055 - ¢ 450 =
14.$ 201240 - $ 2150 - $ 01.20 =

15.$ 3344 - $ 332.40 =

Year 3 Mathematics Worksheet | Google: VBEST 93



vbest.edu.my

WMixed operations (addition & subtraction)

Let’s do exercise together.

Please write doww the correct answer.

1.£ 27050 + £ 57150 - £301.00 =

2. £1050.%0 - £ 3%7.%0 + £ 54.40 =

2. £220.05+£10455 - £12.90 =

A £ 52240 - £159.60 + £4.40 =

5. £1946 - £52910 + £3210.40 =

G. £ 110 + £ 266.60 - £14.20 =

1

7. £742.40 - £519.60 + £ 150

. £52.60 + £ 55010 - £355.40 =

Il

A. £ 2900 - £565.90 + £ 2550

10. £10550 + £ 77.90 - £ 4540

1

M. £572.20- £ 2900+ £ 49 =

12. £ 440.20 + £ 2.0 - £220.90 =

12, £ 111110 - £111.90 + £ 49 =
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Please write down the correct answer.,
1.BRP 292540 + RP 1.60-RP51.40 =
2. RP 34240 - RP122.0 + RP 4010 =
2. RP 45250 + RP 5010 - RP331.40 =

4. RP 223.90 - RP 16090 + RP12.40 =

Il

5.RP 4.0 +'RP 103.60 - RP 5550

. RP 5915 +RP 155.90 - RP44.40

1

I

7. RP 02150 - RP 291.0 + RP 45
©.RP52.20 +RP 204.60 - RPF2.490 =
a4.RP 1299 -RP 292.20 +RP 10590 =
10.RP 502.20 + RP #7.90 -'RP 301.20 =
M. RP192.50 - RP 22.75 +RP 209 =
12.RP 465 -RP 609.90 + RPFA.20 =
132.RP 74410 - RP 429.90 +RP 3910 =
14.RP 54 +RP 452400 - RP271.90 =

15.RP 20595 -RP140.90 + RP 1.0 =
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Please write doww the correct answer.
1. 49235 + ¥ 235.35- ¥1H350 =
2. % 25130 - £ 192380 + £ 4510 =

2.% 392 +¥ 1.90 - ¥410.90

Il

4% D - ¥ 40410 + ¥10.60

1

544040 +¥ 272350 - $192.90 =

1

. ¥ 2045 +¥ 200.95 - ¥5610

¥ 51920 - ¥ 291.20 + ¥ 2950

Il

©.¥202.25-%24032. 20 + ¥142.20 =

A.% 29550 - ¥ 5.0 +¥ 20150

1

I

10. ¥19.90 + ¥ 49.90 - ¥ 16.20
M. ¥ 72910 - ¥ 55545 + ¥ 2300 =
12.$194.30 - ¥ 01.60 + ¥44.90 =
12. ¥ 2095 + ¥ Ad4.45 - ¥ 5510 =
1431730+ $122.90 - ¥ 2430 =

15.% 00210 - ¥ 45505 + ¥ 2150 =
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Please write doww the correct answer.

1.$ 27150 - $ 190.20 + $2.05.60

I

2.4 505 -¢$ 24510 + $ 59.490

Il

2. $ .20+ $201.30 - ¢ 27575

I

4.$4 410.20 - $ 290. 35 +$ 63.45

I

I

5.¢ 26555 + ¢ 50.40 — $ 155.60

0. % 29235 +$164.30 - $292.%0 =

I

7.$519.20 - $ 291.20 + $ 240.30
. $2%2.25-4$203. 230 + $193.20 =

a.$ 29240 - $193.50 + $1%4.20

1

10. $ 4%3.25 +$ 4010 - $ 2%3.65 =

M. $ 264.20 - $160.20 + $ 2A.40

Il

12.$ 19495 - $ 3%1.20 + $15.50 =
13. ¢ 72.65 +$ 7710 - $ ©4.20 =
14.$ 2070 + ¢ 530 - $ 44.50 =

15. ¢ 40240 - $ 253.60 + $ 6730 =
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Please write down the correct answer.

1.BRM 27240 - RMA14450 + RM 7430 =
2. RM AB50 + RM 19350 - RM 66,20 =
2. RM 22150 - RM 14410 + KM 4350 =

4. BM 52250 - BRM 44450 + RM52.20

1

I

5 KM 271.%95 + KM 121.20 - RM2%4
. BRM 45220 - KM 241.20 + RM30.90 =
7. RM D20.40 - BRM 1520 + RMAF5.0 =
O RM 5520 +BRM 410 - RM 2350 =

4. RM 37350 - RM 22575 + RM 4555 =

10. RM 19475 - BRM ad.50 + RM 28450 =
M. BM 41.90 + BM $1.50 —RM 27.25 =
12.RM 285345 - RM 15420 + BRM 2275 =
12.BRM 237130 - RM 250 + RMM7.95 =
14 BM282.40 + RM172.45 - RM473.60 =

15, BRM27A.20 + RMMA2.40 - RM3285.40 =
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WMultiplication of money

Let’s do exercise together.

Please write doww the correct answer.

1.BRP 300 x 2 =

I

2.BRP 27490 x 5

2RPX10 x 9 =

4RP 449 x 4 =

5 RPS150 x 4

I

. RP 232 x 10 =

FRPO420 x @ =

5 RP162 x 2 =

a4.RP 50490 x 7

I

10.BRP 531 x 5

Il

M RP4A20 x 7 =

12.RP592 x 11

Il
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Please write doww the correct answer.

1. 500 x M =

2.%5a2 x 12

I

2.$9270 x 5 =

4 4DF0 x 9 =

5. ¥F+F0 X 5

I

. ¥555 x 4 =

T ¥TFDE50 x G =

DL 265 X

Q
I

A.$52490 x 9 =

10. ¥ 1 x 10 =

M ¥EZ3F0 x 7 =

12,4 599 X

)
I

12.$249.60 x G =

14.%33% x 9 =
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Please write down the correct answer.,
1.$2440 x 5 =
2.$677 x & =
2.$39.20 x4 =

4. ¢H0 x 5 =

I

5.$560 x 10
e.$765 x 2 =
7.$2450 x 3 =

®.$35% x 1

I

Il

a.$2%2.60 x 49
10.$ 5% x 4 =
M.$24 x 12 =

12.$2%3 x g

Il

13.$ 202 x 5 =
14.$ 0270 x G =
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Please write doww the correct answer.

1.£21% x 4 =

2.£3550 X (@

Il

2. £104 X2 =
A4 £ @10 x 7 =

5. £130 x 10

I

e.£E10.F0 x A =

T.£2406 x 5 =

5.£2430 x P

I

A£242 x 2

Il

10. £ 4040 x 7 =
M E74 x N =

12.£507F0 X 9P

I

12.£2065 x 2 =

14.£17 x 12 =
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Please write doww the correct answer.
1. BRM 202 x 3 =

2 BRM4030 x 9

Il

2. BM52% x3 =
4 RBM 2760 x 9 =

5 BM72 x M

I

. BRM544D0 X 5 -
7. RBRM 2040 x 4 =

DM x 4

I

ARM A0 x 7

Il

10.RM 544 x 2 =
MRBMAZ30 x 6 =

12.BRM 23050 x A

I

12 BRM 251 x 5 =

14.BM .70 x 2 =
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Division of moviey

Let’s do exercise together.

Please write doww the correct answer.

1. RM 3000 + 2 =
2. RM4490 + 4 =
2.RM 2640 + 2 =
4 BRMAB0.250 + 9D =
5BRM2150 + 3 =
. KMD550 + 5 =
TRMA%e <+ 2 =
o RMagsz = 3 =
A RBM 2024 =+ 4 =
10.RM 24640 =+ 4 =
M BM1DS = 6 =
12.RM 2440 + 2 =
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Please write doww the correct answer.

1. ¥149% =+ 6 =

.Y 240.0 + 2

I

2
2. $2290 + 9 =
4. $A960.60 =+ G =

5. ¥2570 + 7

I

. ¥945 =+ g =

T E3DF0 3 =

I

D404 + 5

a. ¥1%20 =+~ 4

Il

10. ¥12.%0 =+ 2 =

M. ¥420 + 9 =

12. ¥ 516 =+ 3

Il

12, ¥ 7620 + 2 =

AVER VARV VAR VAR VAR VAR VAR VIR VR VIR VAR VR V4

14. ¥ 260 =+ 7 =
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Please write doww the correct answer.

1. $744 + 3 =
2. $73a%320 =+ 4 =
2. $0200 + 4 =
4. $453.60 =+ 7 =
5. $7%6 = 2 =
C. $50 =+ 2 =

7. $2070 =+ 4 =

& $1200 =+ 2

I

I
N AN A AN AN AN A A AN N A AN A AN

a. $ 40440 + 9

10. $455 + 5 =

M. $20440 + 3 =

Il

12. $a5 + 5

12. $772 + 4 =

14. $5246 =+ 2 =
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Please write doww the correct answer.

1. £ 69450
2. £195.40
2. £27.20
4. £1112
5. £29549
b. £24.60
7. £A7.60
. £1055

a. £ 572 =

10. £ 25590

.
—_—
.

.
—_—
.

.
—_—
.

.
—_—

.
—_—
.

M. £32310 =

12. £A64
12, £ 7560

14. £457.0

.
—

.
—_—
.

.
—_—

5

3

©

.
p—
.

G

9

2
5
G

I

I

I

Il

I

Il
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Please write doww the correct answer.
1. BRpd4.20 =+ 2 =

2. Rpa2G = 4

Il

3. Rp 4342 + 9 =

4. RBp 720 =+ 2 =

Il

5. Rp 0142 + 12
b. BRp %44 -+ 1 =
7. BRpadt.d =+ 4 =

& RBp1255 + 5

Il

Il

a. Rp1094 + G
10. BRp 2232 =+ 4 =
1. Rp 222492 + 4 =
12. Rp 72496 +~ 9 =
12. Rp52.95F =+ 7 =

14. Rp 450 =+~ 49 =
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